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pCR to TS 32.450 v 0.3.0
	1st Modified Section


6.2.1.1
Definition

a) E-UTRAN EPS Bearer Retainability.
b) A measurement that shows how often an end-user abnormally looses an EPS Bearer during the time the EPS Bearer is used. 

c) Number of EPS Bearers with data in a buffer that was abnormally released, normalized with number of data session time units. 

d) 
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e) SAEB.RelAct.QCI 
DRB.SessionTime.UE
DRB.SessionTime.QCI 
f) E-UTRAN. 

g) Retainability.
h) Active release/second.
i) MEAN.

j) The definition of the service provided by E-UTRAN is EPS bearers. The measurement DRB.SessionTime.QCI is defined to look at the activity level of just one QCI at the time, hence aggregating the values of this measurement for all QCIs is not the same as DRB.SessionTime.UE (E.g. in the UE measurement, multiple EPS Bearers might be active at the same time in 50% of the time, hence aggregating the QCI measurements will give a larger number than the UE measurement. See picture below.)
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